ECONOMICS
Syliabus

sl rdasaTeaching Hrs: 1150
Course Content

PARTA. QUANTITATIVE TECHNIQUES IN ECONOMICS

[Tlnit 1. Basic Statistics used in Economics 33 Teaching HoursJ

« Introduction to Statistics- Definition, importance and limitations e Collection and organisation

of data:’ Primary c"‘d secmday data, Metheds of primary data collection, Concept of census
and - sampli .g Methods of sa 'rpx-"g Reliabifity of secondary data, Organisation and
Presentation o da’a Organisatior of data, Presentation: tables, diagrams (Bar, Pie), graphs,
{Line, Frequency, Histograms and Ogives) e Condensation of data: Measures of central
tendency: Mean {AM, -GM, HM), Median, Mode, Partition values: Quartiles; Deciles and
Percentiles, Dispersion; Range, Mean Deviation Quartile Deviation and Standard Deviation

unit 2. Mathematics used in Economics 15 Teaching Hours I

e Law of indices, logarithms and its rules and uses e Solution of equations (one, two and three
variables) and its application in‘economics e Equation of a straight line

{ Unic 3. Quanticative Analysis in Economics - 2 Teaching Hours l

» Need for quantitative analysis in economics e Use of statistics and mathematics in economics

' Unit 4: Nature of Economics 10 Teaching Hours I

o Definition of economics - Adam Smith, A. Marshali.and L. Robbins e Subject matter of -
econcmics -« Concept of positive and normative ‘economics*e Concept of micro and macro

>anomics ‘
,'—-'u_nit 5: Basic Economic Issues : 7 Teaching H'ourq
-o Scarcity and chaice » Aliccation of resources o Concept of preduction possibility curve (PPC)
ﬁ]nit 6: National Income Accounting 10 Teaching Hours ]

= Concept of Gross Domestic Product (GDP), Gross National Product (GNP), National income

(NI), Net National Product {(NNP), Personal Income (Pl) and Disposable Income (DI) .

» Measuremen: of Nationai Income- Product, Income and " Expenditure Methods
Diificulties in measuring Nationa! Income =

IL Unit 7: Meaning and !ndl_cators of Economic Development 8 Teaching HourLI

Congept of ecenomic development e Characteristics of developing countries e Indicators of
nomic development

ulnit 8: Natural Resources of Nepal ; 10 Teaching Hours |

- e Water Resource: Importance, Potential, Current situation e Forest Resource: Importance,
Causes “and conseguences of deforestation e Mineral Resource: Importance, Problems
e Envionment and nafural resource management for sustainable development
« Prodlems of natural resource management
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.| Unit 9: Human Resource 8 Teaching Hours

o Role of human resource e Current population situation- Size, Growth, Distribution,
Composition » Concept of Human Development Indicators (HDI) e Causes and conseguences
of high population growth and remedial measures

l Unit 10: Agriculture - 7 Teaching Hours ]

» Characteristics, importance and probiems e Sources of agricultural finance e Naiure a'\d
problems of agricultural marketing

l Unit 11: Poverty : 10 Teaching Hours l

s Concept of poverty e Characteristics of the poor e Causes of poverty e Measures of poverty
reduction

I Unit 12: Industry 10 Teaching Hours J

» [mportance ~and problems of cottage, small, medium and large scale .indusiries
» Tourism industry: Importance, Prospects, Problems and remedial measures o Current status
of public enterprises

[Unit 13 Transportation and Communica_tion 5 Teaching Hours ]

e Role of transportation «and communication in economic development » Means of
transportation and communication i

| Unit 14: Foreign Trade 4 Teaching Hours |
s Growth, composition and direction e Problems

[ Unit 15: Government Finance 4 Teaching Hours ]

« Classification of government expenditure = Sources of govemment revenue

I Unit 16: Devélopment Planning 7 Teaching Hours I

o Concept of planning » Objectives, priori'ties, policies of current plan e Process of plan
formulation
ik = , Model Questions 2 -
Code: 126 Fuil Marks: 100
Time: 3 hrs. Pass Marks: 35
Candidates are required to give tlzerr answers in.their own words as far as practicable. The
figures in the margin indicate-full marks.

Part ‘A’
1. ‘Distinguish between primary and secondary data. Explain various methods of coflecting primary
data. ; [3+7]
Or
Distinguish between singular and plural definitions of statistics. :
2. Answer the following questions. [2x5 = 10]
(a) Draw a pie diagram to present the following composition of population. :
Brahamins Chheritri . Maithali Newars Others
5000 4500 4000 3500 1000
(b) Calculate median from the following data:
Value 0-4 59 10-19 20-28 | 30-39 | 40-49 50-59 | 60-69
Frequency 328 350 720 664 598 524 -38 244
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3.

Questions Bank {Management) -' Grade XI
Answer any two questions: ‘ i [2x5 = 10]
() () |

X+y (x ¥

1 X 1 X

(40 (-3)
(b) Find the values of x and y from the following equations:
6x-5y+7=0
3x+y-14=0

{c) Find the equation of a straight line, which passes through the point (4, -4) and whose
intercept on the axis are 3 times its intercepts on the y-axis.

(a) Simplify:

Part 'B'

. Answer the following questions.

4,
5.

Define GDP.and GNP. Explain the difficulties in comthmg national income.
Answer two guestions.
(a) Micro economics and macroeconomics.
(b) Scarcity and choices
(c) Indicators of economic development.
Part'C'
Answer any six questions: 6x5 =30
{a) Explain the importance of Water resources in Nepal. : ;
(b) What are the consequences of population growth in Nepal?
(c) What are the sources of agricufturai creditiin Nepal?
(d)  Show the importance of tourism in Nepai.
(e) Discuss about the main problems of Nepalese foreign trade.
(f) Explain the sources of government revenue.in Nepal.
(g) Mention the strategies of the current planof-Nepal.
(h) How does communication help in the development of Nepal'7

Explain the problems of small and cottage industries. What are your suggestions io mitigate
them? R 545
Or, :

Discuss the role of agriculture in the economic development of Nepal. - 10
Answer all the following questions: : 2x5=10

(a) Mention any four causes of deforestation in Nepal.

(b). Point out the indicafors of Human Development in Nepal.

(c) Write four major sources of agricultural finance in Nepal.

(d) Write any four problems of transportation development in Nepal.
{e) Explain four causes of poverty in Nepal.

Part A: Quantltatlve Technigues'in economics

f1].{

Introduction to Statt.stlcs =

. 2071 SetD Q.No. 1

Define statistics? Explain the uses of statistics. [4+6]
WWWWWI?WWWWWWI

p.

2070 Supp Set A Q.No. 1|

Define statistics. Explain its importance and limitations [3+7]
mwmﬁmlmmrﬁm’mwmn

2070 Set D Q.No. 1

~ What do you-mean by statistics? Describe the importance and fimitations of statistics. = [2+4+4]
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E. 2068 Q.No. 1!

Define statistics. Explain the limitations of statistics. : [4+6]
mwsmﬂqﬁ‘mmlmmmmmwml

2068 Q.No. 2

Describe the use of statistics in-economics. : [10]
AR TATFITEAF FARTAE FUH THAE |

B 2066QNo. 1] :
What is statistics? What is its importance in economics? - [4+8]
Whatiis statistics? Explain the importance of statistics in Economics. ' [5+5]
Wﬂ%‘a’ﬂ?ﬂ%ﬁ FANMTEHAT TATTINEAR TEaa AAT AT THRIA |
Descnbe the need for quantitative analysis in Econom»cs [10]
ERHIE L qfwmrms faveuer FeEa AU TR |

:
Descnbe the use of statistics in economics. » [10]

HASTTEAHT THFIEAS TN T THEE |

Explam the smgular and plural defmmons of statistics. [10]
awssm?.sr THA=A T a9 qum"mﬂ? SATEAT TRl | :

Defme statistlcs Discuss the |mportance of statistics in economics. [3+7]
THATFINETH IRATAT R | AL, TR Heead 1! Sher THard

Define statistics. What are its importance and fimitations? [4+6]
WWM&WimmTW%ESﬁf

What is stat:stlcs? Explain the important uses and limitations of statistics. [4+6]
awwsmm?rﬁ« mmmwmrmmmt

Defjne 'statistics. Discuss its scope and limitations. [2+4+4] .
TATFITEH! TRATST fGTar | 79% &7 7 Fw= e THerd |
[ ' Céllectibn'and'OfganiZation ofData = UL

Distinguish between census and sampling. Explain the different methods of samphng [4+6=10]
W?mwﬁfmﬁwmﬂmmlmmmﬁm
A RTEE ST AT ATET TRl |
B 207250t QNo. 1] :

Define Primary and Secondary data. Explain the sources of secondary data. [5+5=10]
wmzﬁ?ﬁwmmmr&mmmﬁm
TFFTH |

Define pnmary and secondary data Explain methods of primary data collection. [2+8]
WWT&WWWW|WMWWWW
et e |
What is census method? Explain its merits and demerits. ' [4+6]

SO A % BT 7 T W qUAT HEUIEEEY SATedT TR | :
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B. 2071 SetC Q.No. 1

What is statistics? Describe various methods of primary data collections. [4+6]
TN THE F 27 7 YATHF TIAF GFaq T [afda=ar T4 THard |

|6. 2070 Supp Set B Q.No. 1}
What do you mean by sampling method? Explain about various types of sampling methods.[3+7=10]
awwr’mfamzrﬂ THAT BATE fataew fafa= afeEsR auT TR |

" Define pn’mary and secondary data. Describe the methods of primary data collection. [3+7]
yrateeE 7 f3dra aeargs qivarn e | wateE qers ke MiHeesd e
== TR |

[. 2069 (Set A) Q. No. 1]
Distinguish between census and sampling. Explain about different methods of sampling.  [3+7]
W?mwﬁﬁeﬁaFmﬁTmumﬁzﬁﬁmhﬁaﬁaﬁmﬂ
U TI?ETJT I

|o. 2089 (Set B) Q.No. 1|
Define primary data. Explain various method of collecting primary data [3+7=10]
WWWMWWTWWW « fafqa afeEr auw
TR |

" [10. 2067 Q. No. 1

Distinguish between primary and secondary data. Explain about various methods of collection

primary data. ’ [4+6]
wuﬁmv%ﬁmmfamfmwnmfﬁmwﬁﬁﬁm
aﬁm—errf FUN TR |

;
Define secondary data. Describe the sources and reliability of secondary data. [4+6]

fadras Tarssr ivar faere | s azarmss 9 7 favaresimarsT == THae
Define primary and secondary data. Explain the reliability of secondary data. [10]
TAtAF 7 HedeE qArsSl qRA e | eEe a@sE favaadgaEn e
TR |

: What are pnmary data? Discuss various methods of collecting primary data [10]
mmmqwm?ﬁ JratHE TS FHAT T 409 aRERea gand
TR |

ﬁ4 2062 Q. No. 1oa

Distinguish between primary and secondary data. ; : [10]
AT T FAE aETsE 4 fqedar aareard |

'
Define secondary data. Describe about its sources. : : [5+5]
fadra TeaTsar afvarar fReere | a9e Saeea auA Ter. |
What are the methods of data collection? Discuss the precautions to be taken while using
secondary data. [6+4]
mawwfafaaaﬁma‘awwﬁ?ﬁﬁummwww
FAFATEE an? == TR

What are the ‘Census method' and 'Sample method' of data collection? Compare their merits
and demerits. [10]
qeATs AEeqal T e T @ Gl e F F v WWW
TAT A, |
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8. 2058 Q. No. 1

Distinguish between primary and secondary data. What are the methods of collecting primary

data? [4+6]
iateE qears 7 fada qearsar farar Sereed | waths q@rs dwad T A
F E EA

9. 2057 Q.No.1

Distinguish between primary and secondary data. What are the sources of secondary data?[4+6]
grafas qers T i qarsAn faear sereTer | s qars® Haes & & &1 ¢

[ 3. Classification, Tabulation and Representation ofData : J

What is tabulation? Explain the importance and functions of tabulation. . [4+8]
TITASTELT THT & 217 ANABIHCIERT HEHd T a=ra'3'6 U TR
What is the tabulation of data? Explam the importance of tabulation. [5+5]
TATET AMAHIET AT F &1 7. ATPIHLD] Hecad! ATl T |
What are the main principles that you would keep in mind while classifying and tabulating the
data? Explain. [5+5]
mmzmmmmmmmm@«m
WR( | :
Draw a multiple bar diagram from the following data. [5]
Production (Metric tons)/ (S7Taw (Rfg® )
Year () - %
Paddy (&) Maize (9%) Wheat (T§)

2012 80 40 60

2013 80 60 50

2014 100 50 70

5. 2072 Set D Q.No. 2i

Draw the histogram from the following data. [5]
TAE TATGHATE yrd BT I e |

Expenditure @) 0-15 15-25 | 25-35 35-45 45-55 55-65
Families (9@R) |4 8 12 20 16 12

fp.__2072 Set E Q.No. 2]

Draw histogram from the following data. [5]

TAF] TATTHAIE ATG A4 (¥ TSR |
Income Rs. (319) 0-10 10-20 |20-30 30-40 40-50 50-60

Families (9@R) 12 16 18 14 8 4
. Draw a histogram from the following data. 5]
AT ATeTeRETe JEQ o T4 THEE |
Workly Income

(aTfaE #T7) R 0-500 | 500-1000 | 1000-1500 | 1500-2000 | 2000-2500

No of workers :
SPTE T 8 15 32 26 12
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Questions Bank (Management) -

2071 Set C Q.No. 24

Grade XI

Draw a pie-diagram from the fo!lowmg data.

Bl

TAF TATFAE TS a9 | :
Heading Food | Education Health Clothing Miscellaneous
(frdes) (@ | (T (TTE) | (@[T F9SE) (fafaa)
(Expenditure (in _
thousands) (@=1) . = - % =

2071 Set D Q.No. 23|

Draw a multiple bar diagram from the following data.
qAFT TATFATE &+ (97 TS0 |

8]

Year No. of Sutdents, in thousand (<1 a4 &em) (FSHD
(@) Humanities (A1) Management (ST&=4T4) Science (f4=TT)
2011 - 60 75 40
2012 70 80 65
2013 - 80 90 70
[10._2070 Supp Set A Q.No. 23|
Construct the pie-diagram of the following data. [5]
TP TATFAE Jd o7 T304 |
Production Rice Wheat Barley Millet Maize.
Productlon quantlt.); o 1 14 8 13 13
[1. 2070 Supp Set B Q.No. 24| -
Draw a frequency polygon from the followmg data. [5]
TH TATFATE ATIRAT ATGM T8 fa=ieid |
Classes =¥ 15-20 20-25 25-30 30-35 35-40
Frequency JTara - 10 15 25 20 10
[12. 2070 Set C Q.No. 23
Construct the pie-diagram from the following data. (5]
qa@ qATsaIe 9a (99 aageid |
Expenditure Heading Food Cloth Rent Travel Education
g=a ofiie a1 FULT ATl g forat
Expenditure (Rs.)
a5 %) 16000 18000 18000 22000 16000
[13.. 2070 Set D Q.No. 2a
Draw Multiple Bar Diagram from the followmg data. 5]
TAHT TATFATE FJEearird (o7 aarsTard |
Year (39) 2064 2065 2066 2067 2068
1s Division (F# =Til), 20 25 25 30 40
21 Division (fzira Sy 30 28 35 25 18
3 Division (Tira 39t 10 5 4 12 2
[14. 2069 (Set A) Q. No. 23]
Draw a frequency polygon from the following data. 5]
qAFT THTFATE ATEHG T f@=iard |
=z (class) 10-20 20-30 30-40 40-50 50-60
AT 12 15 22 18 7

(frequency)




[15. 2069 (Set B) Q.No. 24

Economics 1

47

Present the followmg data by a pie-diagram. (5]
Tl AlFSTaTs U quraadl I&qd T |
Heading ofrgs) Humanities | Management | Science Education Total
(wEfaR) | (FEEEEy) | (@) (fotem) (S
Total no. of students 70 90 80 60 300
(faendfteer o gen)
[i6. 2068 Q.No.2 ]
Present the following data by a sub-divided bar-diagram: {5]
Yo Passed no. of students (ST Fammdt @em) Total no. of
() 1st Division 2nd Division 3rd Division students (&
(597 3efD) fgcima 2 SEICRE L feamdt Hem
2008 75 60 45 180
2009 . - 50 70 30 150
2010 60 75 65 200
[i7_ 2067 Q. No. 24|
Present the followmg data by multlple bar-diagram: [5]
TEAE TATFATE T5- T4 3 IEId TR
y Total No. of Students (In thousand)
ear — -
Humanities Management Science
2007 60 75 40
2008 70 80 65
; 2009 85 90 85
[t8. 2066 Q.No. 24
Present the followmg data by mumple bar diagram: {5]
TR TATFATS T-TAFHIE T Tl
Year Paddy Maize Wheat
2061 10 15 30
2062 8 20 20
2083 16 25 15
9. 2065 Q. No. 2
Present the followmg data by multiple bar diagram. {5]
TAF TS dg-Eawad g S
Year (@) Production  (Ic91&+)
Paddy (dT) Maize (F&) Wheat (7T8)
2061 10 10 - 8
2062 15 9 14
2063 14 7 16
Represent the following data by a sub-divided bar diagram: 5]
. TOF qATFATE GNeq-EaFa g SEeTR
Year Total Student Pass Fail
(Fq) (et Faemd) (sfamm ()
2001 75 55 20
2002 150 130 20
2003 200 160 40
2004 220 170 50
2005 250 220 30
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R1. 2063Q.No.2a

Represent the followmg data by a multiple bar diagram.

Questions Bank (Management) -

Grade XI

Bl

T TETTATS [REARKCIRLEGE
Year a4 Paddy = Wheat T Maize ¥%
2059 60 10 12
2060 50 20 - 10
2061 70 25 30
2062 65 25 20
2. 2062 Q.No. 2

Represent the following data by a ple-dlagram
ToET TRATTATS qOTFR (T7gRT S@reerd |

1 9

(5]

Total Expenditure ¥ &<

Heading ¥rv= ~ Expenditure (in billion rupees) @< (& FYATA1)
Defence Z&TT 50
Education frem 60
Health =meez 40
General ITaTXI 120
Hydropower STeteTich 20
Miscellaneous fafaa 10
Total STHT 300

3. 2061Q.No.23|

Represent the following figures by muiltiple bar diagram: [5]
TAFT qeATsATs dgearig =g T |
Production (in metric ton) SeITeR Afg® =
Year a4 Paddy 9T - Maize 7% Wheat &
2056 10 15 20
2057 15 - 20 25
2058 20 25 30
2059 25 30 35
[p4. 2060 Q. No. 2 4|
Represent the following figures by multiple bar diagram [5]
TeIHT AlFSETE TEeqeT (97 Ta% i |
Year a9 | {st div g 2efr 2nd diy fgeirg SOl 3 div JaTd AT
2050 10 15 : 12
2051 15 18 16
2052 25 27 26
5. 2059Q.No.2 4
Draw a frequency polygon for the following data. [5]
TEATEH! ATIRHAT IR FEAAG =i | ;
Weekly wages (Rs.) 8= <am&r (%) | 0-20 20-40 | 4060 | 60-80 | 80-100
No. of workers FTHIIX_T&aT 40 51 | 64 38 L
=
Construct a hlstogram to represent the followmg data [5]
TRl ATESTETE AR JATd T aarg T |
Class F=¥ 5-10 10-15 1520 | 20-25 | 25-30 | 30-35
Frequency SRF=RAT 12 14 26 11 14 13
Draw a frequency polygon Tafd a9 f@=ial4 | [5
X ~10-20 20-30 30-40 40-50 50-60 60-70
F 4 10 14 18 18 12




28. 2056 Q. No. 22

Draw a pie chart from the following data.

Economics - 149

8]

Heads 9 Food | Rent | Clothing | Education | Health | Others
grar | wrer | mwrer | frem | mrem | oaw

Family expenditure (%) i i

ieaTE w (%) 58 12 14 8 5 3

[ 4. Measures of CentralTendency

Theoretical Questions
. 2059Q.No.10

What is measures of central tendency? What are the criteria needed for an ideal measure?

2. 2057 Q. No. 1ol

[5+5]

What is measures of central tendency? What are the requisites of an ideal measure? [5+5]

= Practical Problems*

B. 2072 Set C Q.No. 2ii

Calculate the geometric mean from the following data.
T TATSFHATE SANTAE Teds AT TR |

e & & &7

Bl

Marks (TSF) 0-10 10-20 20-30 30-40.. 40-50
Frequency (ATg ) 6 |8 5
Ans: 20.9
[8.” 2071 Supp Q.No. 2ii
Find the median from the following table.
TAF! ATAETETE AEAHT T AT | .
Marks (31S%F) 1-10 1-20 1-30 1-40 1-50
Frequency (ATafe) 1 8 10
Ans: 26.67
Find median from the following [5]
qerehl arferTaTe Aias MaEeerd |
Wages 10-20 20-30 30-40 40-50 50 - 60
No. of Workers 3 9 12 10 6
: Ans: 36.67
'
Find the Geometric Mean form the following data: [5]
Marks 10-20 20-30 30-40 40-50 50-60 60-70
No. of Students 3 6 11 5 2 3
Ans: 34.38
Find the A.M. from the following data: [5]
et feua qergaRe dEiiag aus Meew
" | Marks obtained (9T<1T%) 0-20 0-40 0-60~ 0-80 0-100
No. of students (Fremd=. &en) 10 18 30 40 45
A Ans: 46.44
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8. 2064Q.No.2b

Find the A.M. from the following data:
GERECCIREIETEIE mﬁﬁﬁm qeIF FEea:

Grade XI

060 | 080

Marks (9TaTE) 0-20 0-40 0-100
No. of Students (fer=m4T &) 10 25 65 80 100
7 > Ans: 54
p._2063Q.No.2b]
Find the median from the following table: [5]
oo faguar aifesare Afas MaEead |
Age ST 0-15 | 15-30 | 30-45 | 45-60 | 60-75 | 75-90
Population in lakh Si=EeaT 20 40 50 30 20 10
Ans: 100
ff0. 2062Q.No. 21|
Find the mean from the following data: [5]
T JeltEd ATESTATE TeAF [Treald |
Marks 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-80
No. of students 3 12 15 10 5 3 1 1
: Ans: 39
Fmd the mean from the following data: T ATFSTATE HeAS (ARl | [5
Classinterval | 10-20 | 10-30 | 10-40 | 10-50 | 10-60 | 10-70 | 10-80 | 10-90
Frequency 4 16 56 97 124 137 146 150
: * Ans: 46.333
Compute the anthmetlc mean from the following data: [5]
TAE AlFSEE HAS [
Height in cm (x) 15 20 25 30 35 40
No. of plants (f) 1 3 9 21 11 5
Ans: 30.3cm
3. 2058 Q.No.2h
Find the median from the fo!lowmg data _ [5]
fam fafaa quarsae 99« T |
Weight in kgs @1 (.91 61 40-50 50-60 60-70 | 70-80 | 80-90
No. of students fam4T Fean 10 12 25 25 253
Ans: 66.2
[i2. 2058 Q. No. 2]
Find the average temperature from the following data: [5]
T TATIAE AT aInd T9T deTald |
Temp. a4 °C 10-15 15-20 20-25 25-30 30-35
No. of days fa= g&at 10 24 26 20 20
Ans: 23.3°C
fi5._2057Q No. 2]
Find the lower quartile from the following data. (8]
e qeTgETe dol IqdE Tl Ag el |
Marks Less than 70 and
10 10-20 20-30 | 30-40 | 40-50 | 50-60 | 60-70 e
No. of
SHdant 1 5 8 14 18 8 4 2
Ans: 30.714
Find the median from the following data [5]
TAFET TEATSATE FEAA THT ATS e | .
Marks 0-20 20-40 40-60 60-80 80-100
| No. of students 8 15 20 20 17 Ans: 57
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5. Measure of Dispersion

===-Practical Problems ===

[i._2072 Set D Q.No. 2ii|
Find the standard deviation from the following data. [5]
Income (Rs.) (ATFRTHT) 0-10 10-20 20-30 30-40 40-50
Families (9f%@T?) 4 7 10 5 4
Ans: 12.09- .
P. 2072 Set E Q.No. 2ii ;
Find the standard deviation from the following data. [5]
T TATFATE JA1Y A=A I SR |
Wage (597 ) 10-20 20-30 30-40 40-50 50-60
Labour (5e) 2 4 8 5 3
" Ans:i14
B. 2071 Set C Q.No. 2b] :
Find the standard deviation from the following data. )]
Tl TATFATE T4 o qal @ieqed |
Marks (&%) 0-10 10-20 20-30 30-40 40-50
Frequency (ATg ) ZHH 8 10 g 4
Ans: 12.42
[4. 2071 Set D Q.No. 2b]
Find the standard deviation from the following data. 5]
TAET TATFATE Y [aae 9 e |
Marks %% 12 16 20 25 40
No. of Student fe=mft =@ 8 10 15 12 5
Ans: 7.6279
/5. 2070 Supp Set A Q.No. 2bj -
Find the standard deviation from the following data. {5]
Wages ST 50-100 | 100-150 | 150-200 | 200-250 | 250-300 | 300-350
No. or workers
AP —— 25 18 12 6 5 4
Ans: 74.91
6. 2070 Supp Set B Q.No. 2b]
Find the standard deviation from the following data. {5]
FeTET TRATSH JHT fa=ier 0T TR |
Marks below HFH=T FH 10 20 30 40 50
No. or students fa=m4T e 25 40 55 60 70
Ans: 8.52
f7. 2070 Set C Q.No. 2b]
Find the standard deviation from the following data. (5]
T TATSE TATT (Goee (Haeerd |
Income HATFRTT 0-20 20-40 40-60 60-80 | 80-100 | 100-120
Families 9f<ar® 6 7 8- 9 12 8
Ans: 34.724%
. 2070 Set D Q.No. 2b]
Find the standard deviation from the following data. [5]
G TATFE YA f3oe Haeteid |
Age TFF 20-30 30-40 40-50 50-60 60-70 70-80
Frequency #Tafa 3 5 12 8 5 222

Ans: 12.89%



152 - Questions Bank (Management) - Grade XI
[. 2069 (Set A) Q. No. 2b]

Find the standard deviation from the following data. [5]
ffafea qeaiFare fa=me o THEE |
Marks 3% 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No of Students fa=mdt sen 4 12 16 10 8 2
Ans: 12.8

[10. 2069 (Set B) Q.No. 2b] :

Find the standard deviation from the followmg data. [5]
qTEaTe fa=ee TuET TR |

Wages (STT) 0-10 10-20 20-30 30-40 40-50 50-60

No. of workers 15 20 30 45 12 8
(FTHIR F&A )
= Ans: 15.66
Find the standard deviation from the following data. [5]
T TATFATE_JAY f=ed a1 Heaard |
Marks (31%) 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No. of Students (fa=mmait =emm) 4 10 7 el e e e - 6
: Ans: 17.2

l 6. Law OfIndiCes T i o

[i. 2072 set C Q.No. 3i
" lfa+b+c=0, prove that, (afs a+b+c= owqwrfhmmﬁm 5]
1 1 1
1+x°+x-°+1+x°+x*‘* T+xa4xd =
. 2071 Set C Q.No. 3b
If 2x=b, bY = ¢ and c? = a, prove that: xyz = 1. [5]
7T ax=b,b¥=cand c?= amwﬁlﬁﬁ(’ﬁ?{xyz ¥
.B. 2071 Set D Q.No. 34|
Prove that (TR TR 5]
(X:)aw (Xb)bw (xc)c+a a?+b?+c?
x@ X e Xy =X
B 2070 SetCQNo 33|

1 il
If2"—3V—6Z prove that: J + :, 7=0 5 [5]

7z 2¢= 3 = 67 9, YA TErE :l -:;

Nl—h

=0

@]

2070 Set D Q.No. 33|

Find he value of 2 +%—'l’ if ¢=3r=122 : 5]

uiz2x=3v=122wq% ; meﬁmz

:
If am.a" = (am)", show that: m(n-2) + n{m-2) =0 . [5]

1 42t
Simplify: If aX=bY=c? and abc = 1, prove thatx + y +z=0 [5]



8. 2066 Q.No.3 3

Simplicity TTT TETR;

9. 2065Q.No.33

S
)

. X Beim+m? sy m2+mn+02 sy n?+0i+ P
Simplify (@%@ TarE): Y,;) (%) ' G((T)

0. 2064 Q.No. 3 2

Tie12
“xﬂ:ybzzcandy2=leprovetl:lat'a+c=b

7 = yPe 2% 2 = X2 G T, TR TR, 14 2=

1. 2063 Q.No.33

Simplify ¥7e TR

2. 2062 Q.No.3 3

Simplify F¥er T, : [

3. 2061Q.No.3a

Prove THITIa TTaI, :

I

g lq 1)p'q
y—xz y+x

2

1 1
‘14 xem g ymen

xa(a+b) xb(b+c) xc(c+u)
@ F e toxa ]xx*ﬂz“’z'c2

=1
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2x

- )

B8]

Ans: 1

(]

.z’hz.cz
Ans: X

(5]

7

Logarithms and Its Rules and Uses

fi. 2072 Set D Q.No. 3ii

Find the value using log table. (FTETUre TTfersrT FAMT T WA el G TRI<l)

45 x+[200
\72

[p. 2072 Set E Q.No. 3ii

Bl

Ans: 74.99

Find the value using log table. (fTeTurs dTferehTal JART T AIF ol Qe ) [5]

72x30
150

B3. . 2071 Supp Q.No. 3i

Ans: 32.2

Find the value using Logarithm table. ¥Te[Tre dTferser AT T8 WIT 9ol @M er | [5)

1.234 x 5.648

0.125 x 3.468

Ans: 4.01



154 ~'= Questions Bank (Management) - Grade XI

4. 2070 Supp Set A Q.No. 34 :
Find the value using logarithm table. TTEIITEHE! TART M7 AT TAT A TA4. | 5]

3 [59.2 x 0.981
1.97 x (1.2°

Ans: 2.574
/5. 2070 Supp Set B Q.No. 33
Find the value using logarithm table. TERTUTw T YART T2 HIA GaT AMSTaH, | 5]
3
3[ 4000 x 3[ 1246 .
(5.05)2 2 ;
Ans: 4.3508
6. 2069 (Set A) Q. No. 32,
: 40.23x 8006 .
Find the value of : T30x 1504 Using log table. [5]
Ans: 7139

[7. 2069 (Set B) Q.No. 32| .

Find the value of: 2.623 x °\ ’;2—2 using log table. [5]

SEAUIEH] AIARITE R 91 A4 |
8. Ans: 2.102060 Q. No. 3 3]

3
. , 59.2x0.98 .
Find the value of 107 x (6367 (63.6° using log table.

FEEER] FEMETE A9 T4 NS Taid | s=h]
Ans: 0.00001492
.
Find the value of using log table. TTETIFI JARTATE HIF TAT AR | 5]
854 - /1024
Ans: 212.5
/1024
. 365.77 x 0.0785 .
Evaluate: —5;(2?‘-‘ using log table. [5]
i TR A o T 365.7; 222.0785

Ans: 5.1045

[8. Equations and its Application in Economics.

[1. 2072 Set C Q.No. 3ii ;
Solve the following equations: (FFFT FHFIEE &6 TRIE 1) 5

2
S ry=16 x+5 =14

Ans:x=12,y=8

. 2072 et D Q.No. 3]
Solve (FHTATT TR _ 5]
5x -6y =72; 2x + 7y = 57

Ans:x=18,y=3

[B. 2072 Set E Q.No. 3i
Solve (FHTATT TTHETH): [5]
11x-8y=42; 7x + 10y =72

26 83
Ans:x-—9 Y=—g



l4.” 2071 Supp Q.No. 3ii

Solve the following equations: TersT FHTFITE® &6 TRl :

3x + 4y = 27, 5x -3y = 16

[5. 2071 Set C Q.No. 33
Solve (B THET)
4x—§y=6;7x+3y=27

f. 2071 Set D Q.No. 3b|
Solve the following equation (T FHTEHII & TATA)
12x + 19y = 22; 18x + 23y = 44

[7.__2070 Supp Set A Q.No. 3b}
Solve the following equations: (A& FTHIFLI &1 TF!%'RT)

X
§ +3 = x=3y+8=0

[B. 2070 Supp Set B Q.No. 3b|
Solve the following equations: (FETT THIFIT & TR

= +§'=4;2x—y=2

. 2070setCcQ. No 3b}
Solve the following equations: (el FHE & THRH)

xty -8y x-8y x-1
2 JEANESD TS

[10. 2070 Set D Q.No. 3b|

Solve the following equations for x and y. (TRl FRIFTT B TI’FFTH)

8x+5y=6,5x-3y=16

[11. 2068 (Set A) Q. No. 3b)]
Find the value of x and y from the following equations.

TorET FHIGEE X Ty H AT (Moo |
x+1 3 dx—1 2
Yl 4y _173

[i2. 2069 (Set B) Q.No. 3b|
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Bl

Ans:x=5,y=3

Bl

Ans:x=3;y=2

(]

Ans:x=5,y=-2

Bl

Ans:x=-1;y=13

(8]

Ans:x=4;y=6

Bl

Ans:x=7;y=1
£
Ans: x=2;y=~-2

5l

Ans: x=5;y=7

Find the equilibrium price and quantity from the following demand and supply equations. [5]
ARFIEEAE

f"aﬂ T T AT
=82-3P1+P2 and Dz=92+2P1 4Pz
Si=-5+15P1 So=—6+32P2

Find the value of X and Y from the following equations.

x+2y=7;3x-y=35

XY X e
Solve the equations: -5 =2, 173 =2

W |x

Hed T TRATT 1 S el |

Ans: P;=5;P,=3
(]

Ans: x=11;y=-2

Bl

Ans: x =24; y=12
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5. 2066 Q.No.3 b
Solve THTITT a1

> A

2
i1 /5
Ans:x=5;y=7.

6. 2065 Q. No. 3b E
Find the values of x and y from the following equations: [5]

T FHTHIETE xT y F A FEFRR

4
y =3x

8
x+3-y,5

Ans:x=1,y=2
7. 2064 Q.No.3¢
Find the values of x and y from the following equations: [5]

TEHT FIHFEEATE x T y H AT (FTeer
X
5—% =2x-3y+3=0.

Ans: x=-3;y=-1

,

Find the values of x and y from the following equations:

T FHFIETATE X T Y& AH R | :

12x+ 85y + 49=0; 19x~34y-91=0 5]
y Ans:x=3,y=-1

Find the values of x and y from the following equations:

TAHT FIHFETATE X T y B AT (HATA |

%x"+y=18andx+%=12 [5]

Ans:x=9,y=12

Find the equilibrium price and quantity if Qa = 420 - 5P arid Qs = - 60 + 3P [5]
afg AT T qfd AfE=ues FE Qo =420 -5P and Qs=- 60 + 3P B 7 T[T T
T 9ICATY 9T SIS R |

Ans: P=Rs.60,Q=120

: i 2 5: 17 @
Solve the equation T & THEIN : Xy ey 8 ; [5 ¢
g Ans: x = =27/119, y = 39/119
Solve 8¢ A 2x = 3+ dy; 2y = 3x - 4 [5)
Ans: x=5/4,y=-1/8

Find the equilibrium price and quantity if F=ifsr He T TRATT TAT TSR
D=120-5/110andS=12+2P where D=S [5]
Ans: P =Rs. 44, D =100 and S =100

420580 No. 38 ;
Solve & THETE. : 3x + 4y = 27; 5x — 3y = 16 5]
Ans:x=5y=3
- Solve & TR : 7x =3y -17; 2x=3 -5y [5]

Ans: x=1.854,y = -1.341
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26. 2056 Q.No.3b

The demand and supply functions of a commodity are: _
Qo = 500 - 5p; Qs = 110 + 8p, Find the equilibrium price and quantity. [5]
X FEE AN I L WHEW AR B A e qed T A 9w

ST, | Qo =500-5p; Qs=110+8p
Ans: Rs. 30, 350 quantity

~ Equation of Straight Line

2072 Set C Q.No. 3iii

Find the equation of the straight line passing through the point (-1, 3) and with ratio of x-
intercept to y-intercept is 2:3. (F1g (1, 3) ATE WX W TIH X-@8 T Y-EUSH AT
2:3 g TXE Y@ FHE Iell AR, 1) , 5]

Ans:3x+2y=3

2072 Set D Q.No. 3iii]

Find the equation of the straight line which passes through-the point (5, 6) and has intercepts
on the axes equal in magnitude but opposite in sign. (F7=% (5, 6) ¥TX ST T F&ewAT AT
qiETITET o fauiea fared @Ue aATST Gee TETH HE Tl ARl | [5]

Ans:x-y+1=0

2072 Set E Q.No. 3]

Find the slope and intercepts of the equation of straight line. 2x + 3y = 15 {5]
T T TS 2x + 3y = 15 F1 HHE T4 GUSE Tl AR |
Ans: Slope (m) = - ‘:2; , X-intercept (a) = -155' , y-intercept (b) =5

2071 Supp Q.No. 3iiil .

Find the equation of a straight line which passes through the point (4,8) and making equal
intercepts on the axes. ' [5]
Fag (~4,8) 1€ A W T I3 ALEEHT AE GUSEE AG WIS {@H FHIFLT
T ATl | .
1 Ans:x+y=4

2071 Set C Q.No. 3¢|

Find the equation of straight line which passes through the point (3, ~4) and has intercepts on
the axes equal-in magnitude but opposite in sign. [5]
W(a,4)mwmﬁzwamawmﬁ¢&ahwmmm

TETHT FHTE THT AS e |

Ans:x-y=7

2071 Set D Q.No. 3¢| :

Find the equation of straight line which passes through the point (~1,3) and having x-intercept
thrice of y-intercept. : [5]
fawg (-1, 3) e WO I T y-@USHT xGUE TeAT &1 AL (LR FHIFLIT T
MR |

Ans:3x+y=3

2070 Supp Set A Q.No. 3¢

Find the equation of the straight line which makes x-intercept three times the y-intercept and
passes through the point (4, —4). 2 (8]
X-AETAT FATGT GUES y-HGHT ST QUeH! fad Tum g T fag (4, 4) AME EiE
I T FHTHL Tal ST |

Ans:x+3y+8=0

2070 Supp Set B Q.No. 3¢

Find the equation of the straight line whose intercepts on the x-axis and y-axis are respectively
twice and thrice that of the line 10x + 15y = 30. 51
T TG 10x + 15y = 30 F x A& T y JLTHT TS Qe HAN g8 0 T

: Ans:x+y=6
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. 2070 Set C Q.No. 3¢
Find the equation of the straight line which passes through the point (3, 4) and makes

mlercepts on the axes, the sum of whose length is 10.. [5]
=g (3, 4)"vmvafﬂmaﬁl—rfav€=wm 10 & faar @ gH&w gar
Wr"fm !
[10._ 2070 Set D Q.No. 3¢
Find the slope and intercepts from the following equation of a straight line. [5]

WWWWWTWWWI

-3y =3\3

[1. 2069 (Set A) Q. No. 3b]
Find the slope and y-intercept of the line 4x+3y=24. [5] -
THTEIT 4x+ 3y = 24 FT T T y-GU8 (AEHTeRIg |

Ans: Slope: \/3 ; Intercepts: \I:_S and -3

Ans: 4/3and 8

[2. 2069 (Set B) Q.No. 3¢
Find the equation of the line whose intercept on the x-axis is three times its intercept on the y-
axis and which passes through the point (-3, 5). [5]
x-srawaﬁrmmy FETAT TG GUSH A AT FAreq T fag (-3, S)Enz:-rm
IS Y@ FHF (qFTederd |

Flnd the slope and Y- intercept of the straight line 4x + 6y = 18. [5]

HIA @T 4x + 6y = 18 F FoFE T Y- @0 HFeae |

Ans: x+3y=12

2
Ans: -3 and 3

Find the equation of the line passing through the point (3, 2) and making intercept on x-axis
twice as long as that on the y-axis. [5]
X -A&THT SIS @IS Y -FHHT qAST GUSHI §8 AT aATSA ¥ {45 (3,2) AE W
T T@TH FHEF (AFTeiard |

Ftnd the equatlon of a straight line passing through the point (~4, 8) and making equal
intercepts on both the axes. [5]

Fmd the equatlon of a straight line joining the two pomts (-, —1) and (8, 11). [5]

TE fag (-1, -1) 7 (8, 1) e Eram Tl THIH T S Terd] |
Ans:4x—-3y+1=0

Find the equation of the straight line which makes x-intercept three times than y-intercept and
passes through the point (1, 2). ' [5]
X- FLHA] FAST GUE y- HAT FAIST @USH AIF AT avrew T 45 (1, 2) & 5

8. 2063Q.No.3b

What are the three standard forms of equations of a straight line? Find the slope of the straight

Ans: x+2y=7

Ans: x-y=-12

Ans: x+3y=7

line= +§_1 (T T@T AATS ATHEH AFael T & & g 7 9% @l o +%_1asr
LRkl i*‘*‘ﬁm\‘ [9]

b
Ans:y= mx#c% % 1,xcosu+ysina=p,.-;
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9. 2062Q. No.3b)
Find the equation of the straight line whose intercepts on the X-axis and the Y-axis are
respectively twice and thrice that of the line 10x + Sy = 15. [5]
T @l 10x+ 9y = 15% X A& T Y 0| TG4 GUSH FHIT FE 0 ¥ A T
2 Ans: 5x + 3y =15

S
=]
)
S
&
2
o
=
]
©

Q

Find the equation of the straight line,- which passes through the point (3, —4) and has intercepts
on the axes equal in magnitude but opposite in sign. 5]
fag (3,-¥) AE T T FEEH WA WeEE R fATia e @ve ddared e
@I AHF TAl ASTRI, |

; Ans:x-y=7

: .
Find the equation of the straight line which passes through the point (3, 4) and makes intercept
on the axis, the sum of whose length is 14. [5]
fag (3,Y) a2 WM T ALTEEAT aIS @USH WIS ¥ HUH! Gl @Ih FIHEC
9l AS R |

2. 20590 No.3
Find the slope and intercept of the line: x - \[3y = 3/3 ; [5]
TEH! AHFUETE HFE T TS TR |

Q

Ans:x+y-7=0,0r8x+6y—-48=0

Ans: 1f\l§ » =3

S
w
)
S
o
&
o
4
°
w

0

Find the equation of the line which cuts off intercepts -5 and 3 from x and y-axis. [5]
X T Y AT -Y T 3 FIEA @IE HF Gal A9 el |
3 Ans: 3x-5y+15=0

24. 2057 Q.No.3d
Find the slope and y intercept of the fine 2x + 3y = 15. {5]
AR 2x + 3y = 15 & qFE T Y @08 [HaFeerd |

Ans: Slope = -2/3, Y intercept =5

S
o
nN
o
a
@
o
z
°
w

Q

Find the equation of a straight line, which passes through the points (4, —4) and whose
intercept on the x-axis is 5 times its intercept on the y-axis. [5]
fag (¥,-¥) ae e EaT @ qHEE 9 Aederd, W X HEH e @ve
Y FEHT TS AR Y, O a6 6 |

Ans:x+5y+16=0

‘Part B: Basic Economics Concef

10. Nature of Economics

. 2071 Supp Q.No. 4 ;

Critically explain Robbins' definition of economics. [10
AT AT THRT IRATITRT ATATATHSE AT Tard |
.

Distinguish between microeconomics and macroeconomics. Explain the importance of
microeconomics. : [5+5]
Qe ALE T Fad AGIAN F TIF B HEH AIAB] HEAd SATAT
TR |

Critically explain the Marshallian definition of Economics. [10]

TSR] AAEAF GATATEATS ATATAATAIET AT THETH |
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6. 2070 Supp Set A Q.No. 4]
Critically explain the Marshall's definition of economies. [10]
AT AAITEART URATITATS ATAT=THE ETHT SATAT TR |
Cntlcally explaln the Marshall's definition of economics. [10]
HISTAFT AGTTEF] GILATITH AT TATCHE ATl THErH, |
|6. 2069 (Set A) Q. No. 4|
What is economic development? What are the characteristics of under- developed countries?[10]
[7._2069 (Set B) Q.No. 4]
Critically explam Robbins's definition of economics. [10]
oy FFTEEE! GRATATR ATATEACHS AT THRI, |
|
Cntlcally explam the Marshall's definition of economics. [10]
9T FANTEAS] GRATITET ATATSAIHS ATl TRl |

Compare Marshall s definition of economics with that of Robbins. [10]

AT FERHT W GIATaTET oo, TRATHT e TR |

,
Cntlcally explam the Marshallian definition of Economics. [10]

TSI AAUTEAFT TRATATET ATR=ATeAE GHIET TR |

Cntlcally explam the Marshallian definition of economics. [10]
:rrsm-car FASTEAS AHIGTE AR AT ATl TR, | '

‘
Compare Marshall s definition of Economics with that of Robbins. [10]

FAOTTE FIET (awaer URATATET AreTe@ ! TRATT e TRl |
Define micro and macroeconomics. Discuss the importance of economic analysis in policy
-formulation. [5+5]
wmamazmammwﬁwh@vlﬁhmmﬁmm
TEgeaaIe gUA THE |
[ia.2061 Q. No. 4
What do you mean by scope of economics? Describe the subject matter of economics.  [10]
: Jwﬂmmﬁ?ﬂwﬁ FTeAS! (49T FEqET FUA Tl |
Dlstlngmsh between micro and macroeconomics. [10]
Hewzmawmfmml
Explaln the Marshall's definition of economics. [10]
arqwmm‘zﬁ TTeTeT] AT AU TR,
Cntlcally explaln Robbins’ definition of economics. [10]
TFamaET HANTEAET GILATITR ATATAATHS AT THa |
Dlstmgunsh between micro and macroeconomics. Explam the lmponance of microeconomics.[4+6]
H&WTE’?{HWFWTEWIH&W ARl Hecas! ATl THaE, |
Compare Marshall s definition of economlcs with that of Robbins’. [5+5]
TTSTereT FAURT HAITEAFT IRATATATS AT~GET AT AT Tar, |
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Explain Marshall's definition of Economies. - 2 [5]
TR AT ITITHT SATET e |

1. 2072 Set D Q.No. 5]
Discuss the main points of Marshall's definition of economics. : [5]
What is micro economics and macro economics? [5]
TR FAITEA T47 95 A9 T & Bl 7

[23. 2070 Supp Set B Q.No. 53|
Explain the difference between positive economics and normative economics. [5]

4. 2070 Set C Q.No. 54
Explain about the subject matter of Economics. : [5]
AT fAuTaEqesdr qran e T |

[p5. 2069 (Set A) Q. No. 5b]
Explain the concept of micro-economics. : [5]
- FANTEF] HTIRUH! ATeAT T, |
Distinguish between positive and normative economics. [5]
T FATEA T AR A AEF FIF AATSTI |

Nrite short notes on

Normative economics. [5]
TEet FANTEERT AAT Bl IaT AR |

:
Micro and macroeconomics. : [5]
qeH 7 FEE oS! AT fequll HERI |

Subject matter of economics. x (5]
[30. 2056 Q. No. 6 ¢/ 2060 Q. No. 6 ¢
Positive and normative economics. [5]

Wrmwmnaﬁmmwm‘

[' 11. Basic Economic Issues

What is productlon possrblhty curve? Explam it with the help of a table and a diagram. [10]
WWWWW?ﬂ qqTs Al ¥ @l FEer gergade
FTEAT TR |

Explain the concept of production possibility curve. Why does it expand outwards? [7+3]
JATEA AEATAA] YETH AFLEOE ATl Terd, | a7 3@l @ anfedfar $aa! g3, ¢
Explain the concept of production possibility curve. [10]
TG FEIEAT T@IE JTIRIER el Terd | '

What do you understand by allocation of resource? Describe the production possibility curve
graphically. [5+5]
S ACHE AN F Ahg ¢ (AP AEAd SARA AT @I qUA
KGR
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hort Answer Questions

/5. 2072 Set C Q.No. 5ii

What is production possibility curve?.
. 2072setDQ.No.5]

What is allocation of resources?

G faawor I=a & 8l 7
[7.__ 2072 Set E Q.No. 5i] :

Explain production poss1b|l|ty curve (PPC)

IATEH FPATEAAT Thebl STl TR |
E. 2071 Supp Q.No. Si

Write short note on scarcity and choice. :

TEAAT T BRI BISCHIIAT feof sreqe |
. 2071 Set C Q.No. 53] :

Explam the concept of scarcity and choice.

TAWAT T GAIGH! AR T THEN |
[10. 2071 Set D Q.No. 52|

What is production possibility curve?
[11._2070 Supp Set A Q.No. 5]

Explain about the production possibility curve.

JATET FAEAT ISl ATEAT THar |
[12. 2070 Supp Set B Q.No. 54|

Write short notes on scarcuty and choice.

TEAT T BACEH! ANAT Bl Tui qeferd |
[13. 2070 Set D Q:No. 5]

Explain the problems related to allocation of resources in economics.

HAATEAT AR ASHIS T THATEEHT AT TRl TR |
[14. 2069 (Set A) Q. No. 54

Write short note on scarcity and choice.

AT T GAEH AAT Gl feoqull Sreferd |
[15. 2069 (Set B) Q.No. 52

Explain the productions possibility curve.

IR FHATEAT @A T e |

Write short note on allocation of resources.
TR faaRreR FAT Giel eIt JeEre |

What is allocation of resources?
[ R A9 F 8l ?
8. 2066 Q.No.5 4

.What is allocation of resources?
QIR (G0 T9H & B 7
What is meant by allocation of resources?
_
What does scarcity mean in economics?

Bl

Bl

(]

Bl

Bl

B8l

Bl

Bl

Bl

(8]

Bl

Bk

Bl

Bl

5]
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Nrite short notes on

[21. 2063 Q. No. 5 ¢ /2062 Q. No. 6 ¢ /2057 Q. No. 6 (b)] : :
Allocation of resources. [5]
TATIAH! FTSRISH aTeAT feoft THar, | 3
2. 2061 Q. No. 6 (c)/ 2059 Q. No. 6 (b}
Production possibility curve. . [5]
P3. 2060 Q. No. 6 (2)/2058 Q. No. 6 (b) /2056 Q. No. 6 (a)]

Scarcity and choice. [5]
TEATAT T BRISH AXHT BIel I (2o |

| 12. National Income Accounting = e

Long Answer Questions|

What is national income? Describe the various concepts of national income. [3+7=10]
Define Gross Demestic Product (GDP) and Gross National Product (GNP). What are the
difficulties of NI measurement? [10]
mezmnﬁammmluﬁamw
B. 20708upp Set B Q.No. 4]

Explain about the different concepts of national income. [10]
gy drae fafae amrmnemér FreAT ATl TR, | ;

Explaln the concepts of national income: (a) Gross Demestic Product (b) Gross National
Income (c) National Income and (d) Personal Income. [10]

aftey AP AFTIRIIES AT THERG () %6 UERT IART (@) FA AMed Ieaad
.mnfta’am«mwﬁmram

What is GNP” Explain the problems of GNP measurement. [5+5]
ﬁwmm%mrmmmmﬁmmaﬁml

Dlstmgmsh between GDP and GNP. What are the difficulties in measuring national income? [4+6]
mmwrmmmmmmlmm
HIGTHT ATZT FSAGes & & & 7

What is nanonal income? Explain various methods of measuring national income. [4+6]
mmaﬁ?ﬂzﬁ‘r mmmmﬁﬁwmwm :
State the meanlng of GDP, GNP, NI and Per capita income. Which of them is used as an
indicator of national income. . [6+4]
T YERq IS, FH ANgA 17 T feafcs Aadl 94 gErederd | A Well ey
Tt A Faer T A |

Short Answer Questions

[o. 2072 Set C Q.No. 5ii

Describe the characteristics of developing countries. [5]
farEE e fadoaresa! FaT TR, |

[10. 2072 Set D Q.No. 5iiif
Define Gross Domestic Product and Gross National Product. : "[5]

T MEET IR T & AL ITARAST GICATH FEere |





